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Math 17C
Kouba
Worksheet 1

1.) Write a precise €/ proof for each limit.

lim z2+942=0

(xy —(0,0)

b.)  lim (222 +33%) =0

(z,y)—(0,0)

)i +y)=0
C) (Ivy)g{}h_l)(l‘ y)

d. lim 20 —y+1)= -1
) (I,y)~—>(0,2)( Y )

e. lim azy==6
) (z,¥)—=(3,2) Y
2.) Write a precise €/6 proof for each statement.
a.) f(z,y) =122 —y? is continuous at (0, 0).

b.) f(z,y) = /2?2 + y? is continuous at (2,0).

Ty

5T 5 s 3 Oa 0
3.) Show that the function f(z,y) = { 2 + 42 (z,) # (0,0)
0

, (z,y) =(0,0)
is NOT continuous at (0,0) .

4.) Show that the function f(z,y) = { L+ ; Ty ((;C’;J))j(%)’(%)

a.) is NOT continuous at (0,0) .

b.) is continuous at (4, —3) .
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